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o (variable):
o (constant):
( ) 3.14, 100, ‘A, “Hello World!”

|

e

Q) ?

(A)
(literal)
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. (data type): ( )

- () (100)
_ (3.141592)
Q) ]
' SH0| AXEL 3N S I}
X &= 210ICH
(A)
T 20 ATE0 P Row
‘ =<t0] ZHHIE 210]C
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short

int

long

unsigned short
unsigned int
unsigned long
char

unsigned char
float

double

short

long

short

long
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-32768 32767
-2147483648 2147483647
-2147483648 2147483647
0 65535

0 4294967295

0 4294967295

-128 127

0 255

1.2E-38 3.4E38

2.2E-308 1.8E308



. (identifier):
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Q)

sum
_count
king3
n_pictures
2nd_try
dollor$
double

X XX00O00

N
~N

N
~

~
~
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(keyword): C
(reserved words)

auto double
break else
case enum
char extern
const float

continue for
default goto
do if

It
long
register

roatiirn
ICLuUlil1

short
sighed
sizeof
static

struct
switch
typedef
unsigned
void
volatile
while




char c;

int I:

double interest_rate;
Int height, width;

@@

— |
double L0,
interest_rate
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char c; VA=Y=
int i; // B=E
double interest_rate; // A+E
c='a’; // 2XtE
i = 60; // B=E
interest_rate =4.9; // &=E H=

Hac A
Haj &8 A
B 2~ interest_rate & A

H2=clll 2XH'a's e
B2~ 0l 60= CH

interest_rate0l 82.92 &

‘@

il

double
interest_rate

interest_rate
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char c = ‘a’;
Inti=7;
double interest rate = 0.05;

f €

double 00
interest_rate
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int main(void)
{
Iint count;
Int 1ndex;

count = 0O
index = 1
Int sum;
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short, int, long

1GHIE(2utolE)S  32HIE(4HI0 E)

° int

CPU

16 .32 64
© ,
(A)
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R
— 93l — 9. —1. 0. 1.2..... 231

i}laq+++q_i}q _]_q {:}s. 1qi}q+++q i}la

— 32768 = n =+ 32767

long
int
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/* */
#include <stdio.h>

int main(void)

{
short year = 0; /10
int sale = 0; /10
long total_sale = 0; /10
year = 10; /l 3 2
sale = 200000000; /I 21
total sale = year * sale; // 21
printf("total sale = %d \n", total _sale);
printf(“short . %d \n", sizeof(short));
printf(“int . %d \n", sizeof(int));
printf("long . %d \n", sizeof(long));
return O;

}

short 2

int .4

/ong 4 Konkuk University
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unsigned

— unsigned int

sighed

)

5

D

Q
72
Q

D

)

Q.

0. 1. 2..... 2% 1
(0 ~ +4294967295)

signed short
unsigned short

signed int
unsigned int

sighed long
unsigned long



#include <stdio.h>
int main(void)

X = 2147483647
X+1 = -2147483648
‘ X+2 = -2147483647
X+3 = -2147483646
y = 4294967295
y+1=20
y+2 =1
y+3 =2

T

printf("y = %u\n"y); // unsigned %u

{
Int x;
unsigned int y;
X = 2147483647,
printf("x = %d\\n" x);
printf("x+1 = %d\n" x+1);
printf("x+2 = %d\n" x+2);
printf("x+3 = %d\n" x+3);
y = 4294967295,
printf("y+1 = %u\n"y+1):
printf("y+2 = %u\n"y+2);
printf("y+3 = %u\n"y+3);
}
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(overflow):

8,&

f\@ B

21474836438

overflow
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-2147483647 2147483646

2147483647

0 1 cen 4204967294

4294967295

unsigned inte 732
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u U unsigned int 123u 123U

| L IOng 123l 123L 10% [gns | 16ms
ul UL unsigned long 123ul 123UL 21 21 ;
3 3 3
4 4 4
5 5 5
L 6 6 6

10 NS
|~ 7 7
N 0 8
intx=10; //10 10 int 10 \;; 1121 9
inty =010; //010 8 int 8 B| b
int z = 0x10; // 010 16 int 16 SN
#| \® e
5 ® f
% 200 0
7 21 1
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VAIPSE S S - b

#include <stdio.h>

int main(void)

{
int x=10; // 102 108 0|12 int&¥0| 1 g2 & &= 100]|C}.
inty =010; // 0102 8&/=0|1 int=g0| 1 gt= & &l===2 80|Ct.
int z=0x10; // 0102 16&£=0| 10 int¥ 0| 1) g2 & &L= 160|C}.

printf("sizeof(10L) = %d\n", sizeof(10L));
printf("x = %d y = %d z = %d\n", X, v, 2);

printf("x = %d x = %#0 x = %#x\n", X, X, X);

return O;

Sizeof(10L) = 4
x=10y=8z=16
x=10x =012 x = Oxa
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(

)

(symbolic constant):

area radius * radius;
area = Pl * radius * radius:

income
iIncome

= salary »»TAX_RATE * salary;
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=t MEE
HATHAOE Bt
income = salar ‘salary;
expenditure += “salary;

4

et .

efine TAX_RATE 0.15

expenditure += TAX_RATE*salary;

income = salary-TAX_RATE*salary|;

y

Konkuk University
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#define

/* |2 el T2 )8/

#include <stdio.h>

#define Pl 3.141592

int main(void)

{
float radius, area, circumference; // H A
printf("Et XIS = LS oA R:"); // 25 Ot E
scanf("%f", &radius); // NEXZ2H BHXE &
area = PI * radius * radius; /7 HE H A
circumference = 2.0 * Pl * radius; // =2l Hl b
printf("EtX| E 2 %f LICE.\n", radius); // BtXE =3
printf("& 2| HAE =2 %f0| 2 == %f&LICEH\n", area, circumference);
return O;
}

Konkuk University
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const

/DS A T2 ) e/
#include <stdio.h>

int main(void)

{

const double TAX RATE = 0.15; =&t MO

double income, salary; // Ha 8

printf("E =22 LS 0tAIR:"); // 2 CHUHZ2

scanf("%lf", &salary); // doubleE 2 %lf£ X &5t O

income = salary - TAX_RATE * salary; // ==&
printf("==& 2 %If& LICt.\n", income); // ==&

return O;
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@@@@@@ﬁﬁ

1—” E ULF‘{

@1 g TR,

A 2o ==

HIE
0 1 1 1 1 1 1 1
0 1 1 1 1 1 1 0
0 0 0 0 0 0 1 1
0 0 0 0 0 0 1 0
0 0 0 0 0 0 0 1
0 0 0 0 0 0 0 0
1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 0
1 1 1 1 1 1 0 1
1 0 0 0 0 0 0 1
1 0 0 0 0 0 0 0
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/28| B T )Y/
#include <stdio.h>

int main(void) >

{

int x = 3; /
inty = -3;

printf("x = %08X\n", X); // 8Xte| 2| 168 +=F =S StL}.
printf("y = %08X\n", y); // 8Xt2lQl 168l +=2 = tLt.
printf("x+y = %08X\n", x+y);  // 8Xt2|2| 16&+2 =&t

return O;

X = 00000003
y = FFFFFFFD

X+y = 00000000

Konkiik | lni\/prcif\j/
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(ASCII: American Standard Code for Information
Interchange)

~ 8
—()! 33 A 65°B 66 ‘a 97,'0 98

"#$%&'()*+,-./0123456789:;;<=>7
@ABCDEFGHIJKLMNOPQRSTUVWXYZ[\]™_
"abcdefghijkimnopqgrstuvwxyz{|}~




e char

char c;
char answer;
char code;

e char

code = 65; // A
code = “‘A’;
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/* S A H=E2F S A &=/

#include <stdio.h>

int main(void)

{
char codel ='A"; // EAt &2 E=J|3}
char code2 =65; // OtA32| 2EZ xD|3}
printf("E Xt &= =13} = %c\n", codel);
printf("OtA I D& =3} = %c\n", code2);
}
=A
=A
Q@1 T ?
(A) 1 ‘1
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char beep = 7,
printf("%c", beep);

char beep = "\a’;
printf("%c", beep);
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(bell)
(backspace)

(horizontal tab)

(newline)

(vertical tab)
(form feed)

(carriage return)

(back slash)

\O
\a
\b

\t

\n
\V

\f

\r

“1%

\\

10
11

12

13
34
39
92



/* Ol AHOIZE AIEA */
#include <stdio.h>

int main(void)

{
printf("Ol AHIO| Z AIFA A= W\ Q|01 E UEtUH=E 2 XE WM Jl=\n");
printf("\a'= & 1 E LIEtUH= A =2 A0[CH \n");
printf("\\007'2 & =& 0| Jt=35tCH \n");
printf("Z 1 E &0l 2 AF\\007'= =& SCH007 \n");
}
\
l\al
"\007"
"\007"
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Aol

£ LIEHHCE. a2

1.234567 x 109

=

I

rg

I

A
Ny
i

gl

Al st HI|Y = 28
123.45 1.2345 < 10° 1.2345€2
123450 1.2345 < 10° 1.2345e5
0.000023 )3 107" P.30-5
2,000,000,000 2.0 10° 2.0e9




#1
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32 16 16
) 3.14
0lofofo olo[L[L[ofo 0]0 0
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ko= gy e 22 (230 E)
A
4 N
8 1.49598
1 8 23 24 31
10+38
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IHIE < G4HIE < 8OHIE
=] & & =) H 2
CHal A A T (single—precision) .
= q = 3o f; OO 4T 38
float e 320IE |4+ 1.17549 < 10 - 4+ 3.40282 < 10
=i & YU (double—precision) e
TUo = — 309 —— 30
double %;g B4HIE | £2.922507 < 107 3% ~ £ 1.79769 < 1073
FHEAEAT 648 E
long double  |{double-extension-precision) T2 |£2.22507 % 1077 ~ £ 1.79769 < 107 ¢
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/* 23 A8 U= II| H b/

#include <stdio.h>

int main(void)

{
float x = 1.234567890123456789;
double y = 1.234567890123456789;
printf(“float2| 3 J(=%d\n", sizeof(float));
printf("doublel| = J[=%d\n", sizeof(double));
printf("long double2| =3 J|=%d\n", sizeof(long double));
printf("x = %30.25f\n",x);
printf("y = %30.25f\n",y);
return O;

}

float =4

double =8

long double =8

X = 1.23456/8806304932000000000
y = 1.23456789012345670000000@0nkuk University
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3.141592(double )
3.141592F(float )

1.23456e4 = 12345.6
1.23456e-3 = 0.00123456

1.23456
2. //
28 //
0el
2e+10 /I + -
9.26E3 //

9.26e3 //



#include <stdio.h>

int main(void)

{

float x = 1e39;

printf("x = %e\n",x);
}

C:\CPROGRAM\test\test.c(5)
constant arithmetic

warning C4056: overflow in floating-point

Konkuk University
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#include <stdio.h>

int main(void)

{

float x = 1.23456e-38;
float y = 1.23456e-40;

float z = 1.23456e-46;

printf("x = %e\n",x);

N < X

1.234560e-038
1.234558e-040
0.000000e+000
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#include <stdio.h>

50

int main(void)
{

double x;

X = (1.0e20 + 5.0)-1.0e20;

printf("%f \n",x);

return O;
}
0.000000
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